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A. General :
1. This Question Paper contains 75 questions. Please check before

starting to attempt. The question paper consists of 6 parts Physics
(1 to 10), Chemistry(11 to 18), Mathematics(19 to 43), Biology
(44 to 50), General Awareness (51 to 65) & Mental Ability
(66 to 75)

2. Space is provided within question paper for rough work hence no
additional sheets will be provided.

3. Blank paper, clipboard, log tables, slide rules, calculators, cellular
phones, pagers and electronic gadgets in any form are not allowed
inside the examinaiton hall.

4. The answer sheet, a machine-gradable Objective Response
Sheet (ORS), is provided separately.

5. Do not Tamper / mutilate the ORS or this booklet.
6. Do not break the seals of the question-paper booklet before

instructed to do so by the invigilators.
7. SUBMIT the ORS to the invigilator after completing the test &

take away the test paper with you.
8. Any student found/reported using unfair means to improve

his/her performance in the test, shall be disqualified from STaRT-
2015.

B. How to fill Objective Response Sheet (ORS) for filling details
marking answers:

9. Use only HB Pencil/Blue or Black ball point pen for filling the ORS.
Do not use Gel/Ink/Felt pen as it might smudge the ORS.

10. Write your STaRT-2015 Student Registration No. in the boxes given
at the top left corner of your ORS with blue/black ball point pen.
Also, darken the corresponding bubbles with HB Pencil/Blue or
Black ball point pen only.

11. If  any student does not fill his/her STaRT-2015 Student Registration
No. correctly and properly, then his/her ORS will not be checked/
evaluated.

12. Since it is not possible to erase and correct pen filled bubble, you
are advised to be extremely careful while darken the bubble
corresponding to your answer.

13. Neither try to erase / rub / scratch the option nor make the Cross
(X) mark on the option once filled. Do not scribble, smudge, cut,
tear, or wrinkle the ORS. Do not put any stray marks or whitener
anywhere on the ORS.

14. If there is any discrepancy between the written data and the
bubbled data in your ORS, the bubbled data will be taken as final.

C. Question paper format and Marking scheme :
15. For each right answer you will be awarded 4 marks if you

darken the bubble corresponding to the correct answer and zero
marks if no bubble is darkened. In case of bubbling of incorrect
answer, minus one (�1) mark will be awarded.

v- lkekU; %

1- bl iz'u&i= esa 75 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA bl

iz'u&i= esa 6 Hkkx bl izdkj gSa & HkkSfrd foKku (1 ls 10)] jlk;u foKku

(11 ls 18)] xf.kr (19 ls 43)] tho foKku (44 ls 50)] lkekU; Kku (51

ls 65) ,oa ekufld ;ksX;rk(66 ls 75)A
2- jQ dk;Z djus ds fy, iz'u&i= esa gh LFkku fn;k x;k gS vr% vfrfjDr :i

ls dksbZ 'khV ;k isij ugha fn;k tk,xkA

3- [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] LykbM :y] dsYdqysVj] lsy Qksu]

istj ,oa fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA

4- mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA

5- vks-vkj-,l- ;k iz'u&i= dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA

6- iz'u&i= dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k ugha

fn, tk,saA

7- ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk iz'u&i=

vius lkFk ys tk,saA

8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2015 ds fy,

v;ksX; gksxkA

c - vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr

djus ds fy, fuEu izdkj Hkjsa %

9- vks-vkj-,l- Hkjus ds fy, dsoy HB isafly@uhyk ;k dkyk ckWy isu gh

iz;ksx djsaA tsy@L;kgh@QsYV isu iz;ksx ugha djsaA

10- viuk STaRT-2015 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa

dksus esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds

vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly@uhys ;k dkys ckWy isu ls

xgjk djsaA

11- ;fn dksbZ fo|kFkhZ viuk STaRT-2015 fo|kFkhZ jftLVªs'ku Øekad lgh ,oa

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha

fd;k tk,xkA

12- vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k tkrk

gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh xksyksa dks

xgjk djsaA

13- ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k [kqjpus dk

iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] xUnxh ;k

flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA

14- ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k x;k

rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA

l - iz'u&i= izk:i ,oa vad iznku fu;e %

15- izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk fd;k x;kA

;fn xyr xksys dks xgjk fd;k x;k rks ¼&1½ vad dkVk tk,xkA ;fn fdlh

xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k tk,xkA

-2015
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PART - I (PHYSICS)  Hkkx- I ¼HkkSfrd foKku½
Straight Objective Type

This section contains (1-10) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (1-10) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA

1. The angle of dip at equator is  :
(A) zero (B) 45º (C) 60º (D) 90º

Hkwe/; js[kk ij ueu dks.k gksxk&

(A) 'kwU; (B) 45º (C) 60º (D) 90º

2. What does happen when north pole of magnet comes towards South pole of magnet :
(A) Attraction (B) Repulsion
(C) Nothing happen (D) Sometimes attraction and sometimes repulsion

pqEcd dk mÙkjh /kqzo nf{k.kh /kqzo ds ikl ys tkus ij D;k gksrk gS&

(A) vkd"kZ.k (B) çfrd"kZ.k

(C) dqN ugh gksrk gS (D) dqN le; vkd"kZ.k o dqN le; çfrd"kZ.k

3. A transmission line carries a current of 100 A. in east to west direction. Find magnitude of the magnetic field due to
current at a distance 1m below the wire :
(A) 2 × 10�5 T (B) 2 × 10+5 T (C) 105  T (D) 10�5  T

,d lapj.k(Trans mission) ykbu esa 100 ,fEi;j /kkjk iwoZ ls if'pe fn'kk dh vksj izokfgr gks jgh gSA bl /kkjk ds dkj.k rkj

ds uhps 1 ehVj nwjh ij fLFkr fcUnq ij pqEcdh; {ks=k dk ifjek.k gksxk -
(A) 2 × 10�5 T (B) 2 × 10+5 T (C) 105  T (D) 10�5  T

4. Which is correct for electric power :

(A) P = 


V
(B) P = I2R (C) P = 

R

2


(D) P = V2R

fo|qr {kerk ds fy, lgh gS %

(A) P = 


V
(B) P = I2R (C) P = 

R

2


(D) P = V2R

5. In the given circuit, the effective resistance between points A and C will be �

(fuEu ifjiFk esa A o C ds e/; rqY; izfrjks/k gksxk %)

(A) 0.5R (B) R (C) 2R (D) 5R
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6. Three rings P. Q and R are dropped at the same time over identical hollow magnets as shown below :

          

Which of the following describes the order in which the ring P, Q and R reach the bottom of the magnet?
(A) They arrive in the order P, Q, R.
(B) They arrive in the order P, R, Q.
(C) Rings P and R arrive simultaneously, followed by Q.
(D) Rings Q and R arrive simultaneously, followed by P.
fp=k esa n'kkZ;s vuqlkj rhu oy;ksa P. Q rFkk R dks leku [kks[kys pqEcdksa ij ,d gh le; ij fxjk;k tkrk gS %

 

d kWij oy;IykfLVd  oy;

�

fuEu esa ls dkSu lk dFku oy;ksa  P. Q rFkk R pqEcd ds ry ij igq¡pus ds Øe dks n'kkZrk gS\
(A) os P, Q, R ds Øe esa igq¡prs gSA
(B) os P, R, Q ds Øe esa igq¡prs gSA
(C) oy; P rFkk R ,d lkFk igq¡prs gSa rFkk oy; Q  ckn esaA
(D) oy; Q rFkk R ,d lkFk igq¡prs gSa rFkk oy; P ckn esaA

7. A uranium nucleus at rest decays into a thorium nucleus and a helium nucleus, as shown below. Which of the
following is true?

HeThU 4
2

231
90

235
92 

(A) Each decay product has the same kinetic energy.
(B) The decay products tend to go in the same direction.
(C) The thorium nucleus has more momentum than the helium nucleus.
(D) The helium nucleus has more kinetic energy than the thorium nucleus.
fuEu esa n'kkZ;s vuqlkj fdlh fLFkj ;wjsfu;e ukfHkd dk fo?kVu ,d Fkksfj;e ukfHkd rFkk ghfy;e ukfHkd esa gksrk gSA fuEu esa
dkSu lk lgh gS\

HeTh 4
2

231
90

235
92 

(A) izR;sd fo?kfVr inkFkZ dh xfrt Å tkZ leku gSA
(B) fo?kfVr inkFkZ ,d gh fn'kk es xfr djus dh izof̀r j[krs gSA
(C) Fkksfj;e ukfHkd dk laosx ghfy;e ukfHkd dh vis{kk vf/kd gSA
(D) ghfy;e ukfHkd dh xfrt Å tkZ Fkksfj;e ukfHkd dh vis{kk vf/kd gSA
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8. Three different circuits (I, II and III) are constructed using identical batteries and resistors of R and 2R ohm. What
can be said about current I in arm AB of each circuit?
leku cSVfj;ksa rFkk R vkSj 2R ohm ds leku izfrjks/kksa ds mi;ksx ls  rhu fofHkUu ifjiFk (I, II vkSj III) cuk;s x;s gSA izR;sd
ifjiFk dh  AB Hkqtk esa izokfgr /kkjk  I ds ckjs esa D;k dgk tk ldrk gS\

(A) I
II
< I

I
 <  I

III
(B)  I

I
 < I

II
 < I

III
(C) I

I
 = I

II
 = I

III
(D) I

I
 > I

II
 = I

III

9. Which of the following ray diagram is correct ?
fuEu esa ls dkSu lk fp=k lgh gS?

(A) (B) 

(C) (D) 

10. A concave lens always gives a virtual image. In optical lenses (for eye defects) worn by humans which of the
following statements is true?
(A) The lens can never be concave.
(B) In some cases the lens can be concave if the focal length is much larger than 2.5 cm.
(C)  All focal length concave lenses are possible.
(D) All focal length convex lenses are possible.
,d vory ySal ges'kk vkHkklh izfrfcEc cukrk gSA euq"; }kjk igus tkus okys ySalksa ¼us=k nks"k ds fy,½ ds ckjs esa fuEu esa ls
dkSulk dFku lR; gS \
(A) vory ySal dHkh mi;ksx ugha gks ldrk gSA
(B) ;fn vory ySal dh Qksdy nwjh 2.5  lsUVhehVj ls dkQh T;knk gks rks bldk mi;ksx gks ldrk gSA
(C) lHkh Qksdy nwfj;ksa okys vory ySal dk mi;ksx gks ldrk gSA
(D) lHkh Qksdy nwfj;ksa okys mÙky ySal dk mi;ksx gks ldrk gSA
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PART - II (CHEMISTRY)  Hkkx- II ¼jlk;u foKku½

Straight Objective Type
This section contains (11-18) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (11-18) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

11. A metal carbonate X on treatment with a mineral acid liberates a gas which when passed through aqueous solution
of a substance Y gives back X. The substance Y on reaction with the gas obtained at anode during electrolysis of
brine gives a compound Z which can decolorise coloured fabrics. The compounds X,Y and Z respectively are
(A) CaCO

3
, Ca(OH)

2
, CaOCI

2
(B) Ca(OH)

2
, CaO, CaOCI

2

(C) CaCO
3
, CaOCl

2
, Ca(OH)

2
(D) Ca(OH)

2
, CaCO

3
, CaOCI

2

,d /kkfRod dkckZsusV X, ,d [kfut vEy ls fØ;kdj ,d xSl eqDr  djrk gS ftls Y  inkFkZ ds tyh; foy;u ls izokfgr djrs
gS rks iqu% X izkIr gksrk gSA inkFkZ Y, yo.k ty ds fo|qr vi?kVu }kjk ,uksM ij izkIr gksus okyh xSl ls vfHkfØ;k dj ;kSfxd
Z nsrk gSA ;kSfxd Z jaxhu diM+ksa dk fojatu dj ldrk gSA ;kSfxd X,Y rFkk Z Øe'k % gSa&
(A) CaCO

3
, Ca(OH)

2
, CaOCI

2
(B) Ca(OH)

2
, CaO, CaOCI

2

(C) CaCO
3
, CaOCl

2
, Ca(OH)

2
(D) Ca(OH)

2
, CaCO

3
, CaOCI

2

12. A silvery white metal X reacts with water at room temperature to produce a water soluble compound Y and a
colourless gas Z. The reaction is highly exothermic and the Z catches fire immediately during the reaction. The
solution of Y in water on reacting with stoichiometric amount of dilute solution of hydrochloric acid gives a solution
of pH = 7.0. The compounds X, Y and Z respectively are :
(A) AI,  AI(OH)

3
 and H

2
(B) Ag, AgOH and H

2
(C) K, KCI and H

2
(D) Na, NaOH and H

2

,d jtr 'osr jax dh /kkrq  X ty ls d{k rki ij vfHkfØ;k dj ty esa foys; ;kSfxd  Y rFkk jaxghu xSl Z cukrh gSA ;g
vfHkfØ;k vfr Å "ek{ksih gS rFkk Z  vfHkfØ;k ds le; Tofyr gksus yxrk gSA ;kSfxd Y dk tyh; foy;u gkbMªksDyksfjd vEy
dh jllehdj.kkfefr; ek=kk ls vfHkfØ;k dj pH = 7.0. dk foy;u nsrk gSA ;kSfxd  X, Y rFkk Z Øe'k: gSA
(A) AI,  AI(OH)

3
 rFkk  H

2
(B) Ag, AgOH rFkk H

2
(C) K, KCI rFkk H

2
(D) Na, NaOH rFkk H

2

13. Halide ore out of the following is -
(A) cinnabar (B) horn silver (C) limonite (D) galena
fuEu esa ls gSykbM v;Ld gS
(A) flusckj (B) gkWuZ flYoj (C) fyeksukbV (D) xsysuk

14. A compound X reacts with oxygen forming carbon dioxide and by reacting with haemoglobin of blood forms a
compound Y. The compound X and Y are, respectively.
(A) CO and carboxyhaemoglobin (B) H

2
CO

3
 and carbohaemoglobin

(C) CaCO
3 
 and carbon haemoglobin (D) carbon monoxide and carbohaemoglobin

,d ;kSfxd X vkWDlhtu ls vfHkfØ;k ij dkcZu MkbvkWDlkbM cukrk gS rFkk jä  ds gheksXyksfcu ls vfHkfØ;k ij ;kSfxd Y.
cukrk gSA ;kSfxd X vkSj Y Øe'k% gS &
(A) CO rFkk dkcksZDlhgheksXyksfcu (B) H

2
CO

3
 rFkk dkcksZgheksXyksfcu

(C) CaCO
3 
 rFkk dkcZu gheksXyksfcu (D) dkcZu eksuksDlkbM rFkk dkcksZgheksXyksfcu
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15. The correct order of increasing acidic nature of SO
2
, SiO

2
, P

2
O

3
and Al

2
O

3 
is

(A) SO
2
< P

2
O

3
 < SiO

2 
< Al

2
O

3
(B) Al

2
 O

3
 < SiO

2
 < SO

2
 < P

2
O

3
(C) Al

2 
O

3 
< SiO

2 
< P

2
O

3 
< SO

2
(D) SiO

2
 < SO

2
 < Al

2
O

3
 < P

2
O

3

SO
2
, SiO

2
, P

2
O

3 
rFkk Al

2
O

3 
esa c<+rs gq;s vEyh; xq.k dk lgh Øe gksxk &

(A) SO
2
< P

2
O

3
 < SiO

2 
< Al

2
O

3
(B) Al

2
 O

3
 < SiO

2
 < SO

2
 < P

2
O

3
(C) Al

2 
O

3 
< SiO

2 
< P

2
O

3 
< SO

2
(D) SiO

2
 < SO

2
 < Al

2
O

3
 < P

2
O

3

16. Which out of following hydrocarbons undergo addition and substitution reactions respectively ?
fuEu esa ls dkSuls gkbMªksdkcZu Øe'k % ;ksxkkRed rFkk izfrLFkkiu vfHkfØ;k nsrs gS \
C

2
H

6
, C

3
H

8
, C

3
H

6
, C

2
H

2
 and CH

4
(A)  C

2
H

6
 and C

3
H

8
(B) C

3
H

6
 and C

2
H

6
(C) CH

4
 and C

2
H

10
(D) C

3
H

8
 and C

2
H

2

17. Arrange the following atoms in the order of increasing atomic radius:
F, Cl, C, O
(A) F, Cl, O, C (B) C, O, F, Cl (C) O, C, F, Cl (D) F, O, C, Cl
fuEu ijek.kqvksa dks budh c<+rh gqbZ ijek.kq f=kT;k ds Øe esa O;ofLFkr dfj;s
F, Cl, C, O
(A) F, Cl, O, C (B) C, O, F, Cl (C) O, C, F, Cl (D) F, O, C, Cl

18. A Brown and bright element �x� when heated in presence of air turns in to black substance �y�. If Hydrogen gas is

passed over this heating material again �x� is obtained. �x� and �y� are �

(A) Cu & CuO (B) S & SO
2

(C) C & CO
2

(D) Na & NaH
,d Hkwjk o pedhyk rRo �x� tc ok;q dh mifLFkfr esa xeZ fd;k tkrk gS rks dkyk inkFkZ �y� curk gS] ftl ij gkbMªkstu xSl
izokfgr djus ij iqu% �x� izkIr gksrk gSA �x� vkSj �y� gSa �
(A) Cu & CuO (B) S & SO

2
(C) C & CO

2
(D) Na & NaH

PART - III (MATHEMATICS)  Hkkx- III ¼xf.kr½
Straight Objective Type

This section contains (19-43) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (19-43) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

19. A has a pair of triangles with corresponding sides proportional, and B has a pair of pentagons with corresponding
sides proportional.
S

1
 = A's triangles must be similar S

2 
= D's pentagons must be similar

Which of the following statement is correct?
(A) S

1
 is true, but S

2
 is not true. (B) S

2
 is true, but S

1
 is not true.

(C) Both S
1
 and S

2
 are true. (D) Neither S

1
 nor S

2
 is true.

A f=kHkqtksa dk ;qXe gS ftldh laxr Hkqtk,sa lekuqikrh gSa rFkk B iapHkqtksa dk ;qXe gS ftldh laxr Hkqtk,¡ lekuqikrh gSa
S

1
 = A ds f=kHkqt le:i gksus pkfg, S

2 
= B ds iapHkqt le:i gksus pkfg,

fuEu dFkuksa esa dkSu lR; gS?
(A) S

1
 lR; gS fdUrq S

2
 lR; ugha gS (B) S

2
 lR; gS fdUrq S

1
 lR; ugha gS

(C) nksuksa S
1
 ,oa S

2
 lR; gSa (D) u rks S

1
 u gh S

2
 lR; gSa
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20. The square of an odd integer must be of the form
(A) 6n + 1 (B) 6n + 3
(C) 8n + 1 (D) 4n + 1 but may not be 8n + 1
fo"ke iw.kkZd dk oxZ fuEu :i esa gksxk
(A) 6n + 1 (B) 6n + 3
(C) 8n + 1 (D) 4n + 1 fdUrq 8n+1 ugha gks ldrk

21. The value of tan1º tan2º tan3º......... tan89º is

tan1º tan2º tan3º......... tan89º dk eku gS

(A) 0 (B) 1 (C) 2 (D) 
2
1

22. Which of the following statements holds always?
(A) Every rectangle is a square. (B) Every parallelogram is a trapezium
(C) Every rhombus is a square (D) Every parallelogram is a rectangle
fuEu esa dkSu&lk dFku lnSo lR; gS?
(A) izR;sd vk;r ,d oxZ gSA (B) izR;sd lekarj prqHkZt ,d leyEc prqHkZqt ,d oxZ gSA
(C) izR;sd leprqHkZqt ,d oxZ gSA (D) izR;sd lekarj prqHkZqt ,d vk;r gSA

23. There are several human beings and several dogs in a room. One tenth of the humans have lost a leg. The total
numbers of feet are 77. Then the number of dogs is
(A) not determinable due to insufficient data (B) 4
(C) 5 (D) 6
,d dejsa esa vusd euq"; ,oa dqÙks gSA euq";ksa dh la[;kvksa dk nlok¡ Hkkx ,d iSj [kks pqdk gSA dqy iSjksa dh la[;k 77 gS rks dqÙkksa
dh la[;k gS
(A) vi;kZIr MkVk ds dkj.k fuf'pr ugha fd;k tk ldrk
(B) 4
(C) 5
(D) 6

24. One integer is chosen out of 1, 2, 3, ...,100. What is the probability that it is neither divisible by 4 nor by 6
(A)  0.59 (B) 0.67 (C)  0.41 (D) 0.33
1, 2, 3, ...,100 ls ,d iw.kkZd pquk tkrk gSA bls u rks 4 vkSj u gh 6 ls foHkkftr gksus dh izkf;drk gSA
(A)   0.59 (B)   0.67 (C)   0.41 (D)   0.33

25. A solid metal sphere of surface area S
1
 is melted and recast into a number of smaller spheres. S

2
 is the sum of the

surface areas of all the smaller spheres. Then
(A) S

1
 > S

2
(B) S

2
 > S

1
(C) S

1
 =  S

2
(D) S

1
 = S

2
 only if all the smaller spheres of equal radii

,d  S
1
 i"̀Bh; {ks=kQy Bksl /kkrq ds xksys dks fi?kykdj NkssVs xksyksa es <kyk tkrk gSA S

2
  lHkh NksVs xksyksa ds i"̀Bh; {ks=kQyksa dk

;ksx gSA rc
(A) S

1
 > S

2
(B) S

2
 > S

1
(C) S

1
 =  S

2

(D) S
1
 = S

2
 ;fn dsoy lHkh NksVs xksys leku f=kT;kvksa ds gaSA
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26. Re.1 and Rs.5 coins are available (as many required). Find the smallest payment which cannot be made by these
coins, if not more than 5 coins are allowed.
(A) 3 (B) 12 (C) 14 (D) 18
Re.1 rFkk Rs.5 ds flDds miyC/k gSa (ftrus pkgsa mrus) ;fn 5 flDdksa ls vf/kd iz;qDr djus dh vuqefr ugha gks rks :i;s esa
U;wure~ Hkqxrku tks fd fn;s x, flDdksa lss cuk;k ugha tk ldrkA
(A) 3 (B) 12 (C) 14 (D) 18

27. Suppose you walk from home to the bus stand at 4 km/h and immediately return at x km/h. If the average speed is
6 km/h then x is
(A) 8 km/h (B) 10 k m/h (C) 12 km/h
(D) cannot be detennined unless the distance from home to bus stand is known.
eku ysa fd vki cl LVS.M ls ?kj rd 4km/h dh xfr ls Vgyrs gS vkSj rqjar  x km/h ls okil gksrs gSA ;fn vkSlr xfr 6
km/h gS rks x gS
(A) 8 km/h (B) 10 k m/h (C) 12 km/h
(D) ugha fu/kkZfjr fd;k tk ldrk tc rd ?kj ls cl LVS.M dh nwjh Kkr u dj ysA

28. If a and b are natural numbers such that 
b
1

a

1








 = 3.0 , then the value of ab is :

(A) 81 (B) 24 (C) 192 (D) 375

;fn a rFkk b ,slh izkd r̀ la[;k,a gSa fd  
b
1

a
1








 = 3.0 , rks ab dk eku gS %

(A) 81 (B) 24 (C) 192 (D) 375

29. ABC is an equilateral triangle of side 2 3  cms. P is any point in the interior of  ABC. If x, y, z are the distances
of P from the sides of the triangle, then x + y + z =

ABC ,d leckgq f=kHkqt gS ftldh Hkqtk 2 3  cms gSA f=kHkqt  ABC  ds vanj dksbZ fcUnq gSA ;fn x,y,z fcUnq  P  ls f=kHkqt dh
Hkqtkvksa ls nwfj;k¡ gSa rks x + y + z =

(A) 2 + 3  cms. (B) 5 cms. (C) 3 cms. (D) 4 cms.
30. Unit�s digit in the product (2137)753 is

(A) 1 (B) 3 (C) 7 (D) 9
xq.kuQy  (2137)753 esa bdkbZ dk vad gSa
(A) 1 (B) 3 (C) 7 (D) 9

31. The volume and whole surface area of a cylindrical solid of radius �r� units are V and S respectively. If the height

of the cylinder is 1 unit, then 
S
V

 is equal to

(A) 











1r

1
1

2

1
(B) 












1r

1
1

2

1
(C) 










r

1
1

2

1
(D) 










r

1
1

2

1

f=kT;k �r� bdkbZ ds ,d csyukdkj Bksl dk vk;ru rFkk laiw.kZ i"̀B dk {ks=kQy Øe'k% V rFkk S gSA ;fn csyu dh Å ¡pkbZ 1 bdkbZ

gS rks 
S
V

 cjkcj gS %

(A) 











1r
1

1
2
1

(B) 











1r
1

1
2
1

(C) 









r
1

1
2
1

(D) 









r
1

1
2
1
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32. If x + y + z = 1, x² + y² + z² = 2 and x³ + y³ + z³ = 3 then the value of xyz is:

;fn x + y + z = 1, x² + y² + z² = 2 rFkk x³ + y³ + z³ = 3 rc xyz dk eku gksxk :
(A) 1/5 (B)  1/6 (C)  1/7 (D)  1/8

33. The number 
51

1


 lies between the numbers

(A) 
3
1

 and 
2
1

(B) 
2
1

 and 
2

1
(C) 

4
1

 and 
3
1

(D) 
5
1

 and 
4
1

la[;k 
51

1


 fuEu esa ls fdu la[;kvksa ds chp fLFkr gS

(A) 
3
1

 rFkk 
2
1

(B) 
2
1

 rFkk 
2

1
(C) 

4
1

 rFkk 
3
1

(D) 
5
1

 rFkk 
4
1

34. If the area (in m2) of the square inscribed in a semicircle is 2, then the area (in m2) of the square inscribed in the
entire circle is
(A) 4 (B) 5 (C) 6 (D) 7
,d v/kZoÙ̀k ds vUnj fufeZr oxZ dk {ks=kQy 2 oxZ eh- gS] rks iw.kZ oÙ̀k ds vUnj fufeZr oxZ dk {ks=kQy  (oxZ eh- esa) D;k gS \
(A) 4 (B) 5 (C) 6 (D) 7

35. If the mean of the numbers 6, 4, 3, 8, 10, 11, 10, 10, 5 and a is 7.2 and the median of the numbers 11, 10, b, 8, 6,

10, a, 4, 3 and 10 is 8.5, then the value of b is

(A) 8 (B) 9 (C) 10 (D) 11

;fn la[;kvksa  6, 4, 3, 8, 10, 11, 10, 10, 5 rFkk a dk ek/; 7.2 rFkk la[;kvksa 11, 10, b, 8, 6, 10, a, 4, 3 rFkk 10 dh ekf/;dk

8.5 gS rks  b dk eku gS

(A) 8 (B) 9 (C) 10 (D) 11

36. Sum of n terms  of the series
Js.kh ds n inksa dk ;ksx gksxk

321882   + .......... is :

(A) 
2

)1n(n 
(B) 2n (n + 1) (C) 

2

)1n(n 
(D) 1

37. If 4 sin x = 12 sin2 x � 1 where 0  x  90º then the value of 
1xsec

xtan


 � 
1xsec

xtan


 is equal to :

;fn 4 sin x = 12 sin2 x � 1 tgk¡ 0  x  90º rc 
1xsec

xtan


 � 
1xsec

xtan


 dk eku cjkcj gS :

(A) 
3

32
(B) 32 (C) 3 (D) 33



(SPACE  FOR  ROUGH  WORK)

RESONANCE STaRT2015 X_10-2015

38. In the accompanying figure CE and DE are equal chords of a circle with centre O. Arc AB is a quarter-circle with
centre O. Then the ratio of the area of triangle CED to the area of triangle AOB is :
fn;s x;s fp=k esa CE rFkk DE oÙ̀k dh ftldk dsUnz fcUnq O gS dh nks leku thok,¡ gSaA pki AB oÙ̀k ftldk dsUnz fcUnq O gS
dk pkSFkkbZ Hkkx gSA  rc f=kHkqt CED rFkk f=kHkqt AOB ds {ks=kQy dk vuqikr gksxk :

E

O
C D

A B

(A) 2  : 1 (B) 3  : 1 (C) 2 : 1 (D) 3 : 1

39. Given triangle PQR with RS bisecting R, PQ extended to D and n a right angle, then
fn;s x;s f=kHkqt PQR esa RS, R dk f}Hkktd gS,  Hkqtk PQ dks D rd c<k;k tk, rFkk n ,d ledks.k dks.k gS rks

R

P Q D
p

m
n

q

S
d

(A) m = 
2
1

(p � q) (B) m = 
2
1

(p + q) (C) d = 
2
1

(q + p) (D) d = 
2
1
m

40. ABCD is a parallelogram, M is the midpoint of DC. If AP = 65 and PM = 30 then the largest possible integral value
of AB is :
,d leprqHkZt ABCD esa DC dk e/; fcUnq M gS ;fn AP = 65 rFkk PM = 30 rc AB dk vf/kdre iw.kkZad eku gksxkA

M

A B

CD

P

(A) 124 (B) 120 (C) 119 (D) 118

41. Let XOY be a right angled triangle with XOY = 90º. Let M and N be the midpoints of legs OX and OY,

respectively. Given that XN = 19 and YM = 22, the length XY is equal to
;fn XOY ,d ledks.k f=kHkqt gS ftlesa XOY = 90º gSA Hkqtk OX ,oa OY ds e/; fcUnq Øe'k% M o N gSA ;fn XN = 19
rFkk YM = 22, rc XY dk eku gksxkA
(A) 24 (B) 26 (C) 28 (D) 34

42. If two tangents inclined at an angle 60º are drawn to a circle of radius 3 cm, then length of each tangent is equal to:

oÙ̀k ftldh f=kT;k 3 cm gS ij ;fn nks Li'kZ js[kk,¡ cuk;h tkrh gSa ftuds e/; dks.k 60º gSA rks izR;sd Li'kZ js[kk dh yEckbZ gksxh:

(A) 3
2
3

cm (B) 6 cm (C) 3 cm (D) 33  cm
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43. The quadratic equation a x2 + bx + c = 0 has real roots  and . If a, b, c real and of the same sign, then
(A)  and  are both positive
(B)  and  are both negative
(C)  and  are of opposite sign
(D) nothing can be said about the signs of  and  as the information is insufficient.
f}/kkr lehdj.k a x2 + bx + c = 0 ds okLrfod ewy  rFkk gSa ;fn a, b, c okLrfod la[;k gSa rFkk lHkh ds fpUg leku gSa] rc
(A)  rFkk  nksuksa /kukRed gksxsa (B)  rFkk  nksuksa _ .kkRed gksxsa
(C)  rFkk  nksuksa foifjr fpUg gksxsa (D)  rFkk  ds ckjs esa dqN ugh dgk tk ldrk] lwpuk i;kZIr ugha gSA

PART - IV (BIOLOGY)   Hkkx- IV ¼tho foKku½

Straight Objective Type
This section contains (44-50) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (44-50) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA

44. If heterozygous tall plant is crossed with the homozygous dwarf plant, then the percentage of dwart plants in
progeny will be -
(A) 25% (B) 75% (C) 50% (D) 100%
;fn fo"ke ;qXeth yEck ikS/kk] le;qXeth ckSus ikS/ks ls ØkWl djok;k tkrk gS] rks lUrfr esa ckSus ikS/ks dh izfr'kr ek=kk gksxh
(A) 25% (B) 75% (C) 50% (D) 100%

45. In plants, a group of viral disease is -
(A) tabacco mosaic disease and late blight of potato
(B) late blight of potato and yellow vein mosaic of Bhindi
(C) yellow vein mosaic of Bhindi and tobacco mosaic disease
(D) tobacco mosaic disease and citrus canker.
ikS/kksa esa fo"kk.kqtU; jksxksa dk lewg gSa &
(A) rEckdw ekstsbd jksx o vkyw dh iNsrh vaxekjh  (B) vkyw dh iNsrh vaxekjh o fHk.Mh dk ihykf'kjk ekstsbd
(C) fHk.Mh dh ihyk f'kjk ekstsbd o rEckdw ekstsbdjksx(D) rEckdw ekstsbd jksx o lkbVªl dsadj

46. The demand of which of the following inputs did not increase under green revolution ?
(A) Insecticides (B) Improved variety of seeds
(C) Water resources (D) Organic fertillizer
gfjr~ ØkfUr ds vUrxZr fuEu esa ls fdl ykxr dh ekax esa of̀) ugha gqbZ \
(A) dhVuk'kd nokb;k¡ (B) mUur izdkj ds cht
(C) ty lalk/ku (D) dkcZfud [kkn

47. In birds nitrogenous waste is :
(A) urea (B) ammonia (C) uric acid (D) amino acids
if{k;ksa easa mRlftZr ukbVªkstuh inkFkZ gksrk gS :
(A) ;wfj;k (B) veksfu;k (C) ;wfjd vEy (D) vehuks vEy
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48. The chemical which destroys ozone layer is :
(A) CH

4
(B) CFC (C) SO

2
(D) NO

2

vkstksu ijr dks u"V djus okyk jlk;u gS :
(A) CH

4
(B) CFC (C) SO

2
(D) NO

2

49. Viviparous germination is found in :
(A) Hydrophytes (B) Xerophytes (C) Halophytes (D) Mesophytes
tjk;qt vadqj.k ik;k tkrk gS :
(A) tyksn~fHkn esa (B) e:n~fHkn esa (C) yo.keǹksn~fHkn esas (D) leksn~fHkn esa

50. Contractile vacuole of amoeba is equivalent to which organ of human ?
(A) Spleen (B) Kidney (D) Lung (D) Liver
vehck dk ladqpu'khy jlk/kkuh ekuo ds fdl vax ds rqY; gS ?
(A) Iyhgk (B) oD̀d (D) QsQM+sa (D) ;Ñr

PART-V (GENERAL AWARENESS)  Hkkx- V ¼lkekU; Kku½
Straight Objective Type

This section contains (51-65) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (51-65) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

51. From about 13th century to the time of the French Revolution sumptuary laws were expected to be followed strictly
to:
(A) regulate the behaviour of the royalty.
(B) regulate the income of people by social rank.
(C) control the behaviour of those considered social inferiors.
(D) provide religious sanctity to social behaviour.
yxHkx 13oha lnh ls ysdj  Ýkalhlh Økafr rd [kpZ laca/kh dkuwuksa dk ikyu dM+kbZ ls fd;k tkrk Fkk rkfd
(A) jkt ifjokj dk O;ogkj fu;ekuq:i jgsA
(B) lkekftd gSfl;r ds vuqlkj yksxksa dh vk; fu;ekuq:i jgsA
(C) lkekftd :i ls fuEu le>s tkus okys yksxksa ds O;ogkj ij fu;a=k.k jgsA
(D) lkekftd O;ogkj dk /kkfeZd vuqeksun cuk jgsA

52. Choose the correct response from the given options.
On 3rd March 1933 the famous Enabling Act was passed to:
a. establish dictatorship in Germany.
b. give Hitler the power to rule by decree.
c. ban all trade unions.
d. ban all political parties and their affiliates.
(A) only a and b are correct (B) only c and d are correct
(C) a, band c are correct (D) only d is correct



(SPACE  FOR  ROUGH  WORK)

RESONANCE STaRT2015 X_13-2015

fuEufyf[kr fodYiksa esa lgh dk p;u djsaA 3 ekpZ 1933 dks izfl) buscfyax ,DV blfy, ikl fd;k x;k Fkk rkfd
a. teZuh esa rkuk'kkgh dh LFkkiuk gks ldsA
b.fgVyj dks jktkKk tkjh djds 'kklu djus dh 'kfDr fey tk,A
c. lHkh VsªM ;wfu;uksa dks izfrcaf/kr dj fn;k tk,A
d. lHkh jktuhfrd nyksa rFkk mlds lg;ksfx;ksa dks izfrcaf/kr dj fn;k tk,A
(A) dsoy  (a) vkSj (b) lgh gSA (B) dsoy  (c) vkSj (d) lgh gSA (C) (a), (b) vkSj (c) lgh gSA(D) dsoy  (d) lgh gSA

53. The Balkans, which was a serious source of nationalist tension in Europe after 1871, was a region comprising of :
(A) Romaina, Germany, Poland, Bulgaria (B) Romania, Prussia, Bulgaria, Slovakia and Poland.
(C) Serbia, Austria, Bulgaria, Slovakia and Poland (D) Serbia, Bulgaria, Greece, Croatia, Romania
lu~ 1871 ds ckn ;wjksi esa jk"Vªoknh ruko dk ,d xaHkhj L=kksr ckydu {ks=k FkkA bl {ks=k esa fuEufyf[kr ns'k vkrs gS
(A) jksekfu;k, teZuh, iksySaM, cqYxkfj;k (B) jksekfu;k, izqf'k;k, xzhl , Øksf'k;k ,oa lfcZ;k
(C) lfcZ;k] vkWfLVª;k] cqYxkfj;k] Lyksokfd;k ,oa iksySaM (D) lfcZ;k] cqYxkfj;k] xzhl] Øksf'k;k] jksekfu;k

54. Which of the following is a correct match ?
(A) Rashsundari Debi -lstri Dharma Vichar (B) Ram Chadda - Amar Jiban
(C) Kashibaba - Chote Aur Bade ka Sawaal (D) Sudarshan Chakra - Gulamgiri
fuEufyf[kr esa dkSu lk feyky lgh gS ?
(A) jk'klqanjh nsoh L=kh /keZ fopkj (B) jke pM~<k &vej thou
(C) dk'kh ckck &NksVs vkSj cM+s dk loky (D) lqn'kZu pØ &xqykefxfj

55. Which four major ports of India lie on the Golden Quadrilateral?
(A) Chennai, Tuticorin, Mangalore, Marmagao (B) Kolkata, Chennai, Mangalore, Mumbai
(C) Marmagao, Mumbai, Kandla, Mangalore (D) Kolkata, Mumbai, Vishakhapatanam, Chennai
Hkkjr ds dkSu ls pkj eq[; canjxkg Lo.kZ prqHkZt¼xksYMu DokfMªysVjy½ ij iM+rs gSa?
(A) psUubZ , rwrhdksfju, eSxyksj,ejekxk¡o (B) dksydrk, psUubZ, eSxyksj, eqacbZ
(C) ekjekxk¡o, eqacbZ, dkaMyk, eSxyksj (D) dksydrk, eqacbZ, fo'kk[kkiÙkue, psUubZ

56. Match the fishing ports indicated on the map of India (I, II, III and IV) with their respective names.
A. Kakinada B. Alappuzha C. Porbandar D. Tuticorin
Hkkjr ds ekufp=k esa fn, x, eNyh idM+us ds canjxkgksa (I, II, III vkSj IV) dk muds uke ls feyku djsaA
A. dkfdukMk B. vyk¶qT>k C. iksjcanj D. rwrhdksfju

(A)   II-A,   III-B,   I-C,   IV-D (B)  I-A,   II-B,   III-D,   IV-C
(C)   l-C,   II-B,   III-A,   IV-D (D)  I-D,   II-B,   III-A,   IV-C
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57. Which figure relates the trend of population Growth rate of India from 1951-2001?

(A) (B) (C) (D) 

lu~ 1951-2001ds chp Hkkjr dh tula[;k of̀) dh izof̀Ùk ls dkSu lk vkjs[k lacf/kr gS?

(A) (B) (C) (D) 

58. Assertion (A) : Although only the southern part of India lies in tropical region, the whole of India has tropical
climate.
Reason (R) : Himalaya mountain ranges protect it from the northerly cold winds.
Select the correct option from the given alternatives.
(A) Both (A) and (R) are true and (R) explain (A)
(B) Both (A) and (R) are true but (R) does not explain (A)
(C) (A) is true and (R) is false.
(D) (A) is false and (R) is true.
fopkj (A) : ;|fi Hkkjr dk dsoy nf{k.kh Hkkx gh m".kdfVca/kh; {ks=k esa iM+rk gS] iwjs Hkkjr dh tyok;q m".kdfVca/kh; gSA
rdZ (R) : fgeky; ioZr Ük̀a[kyk,¡ bls mÙkjh BaM+h gokvksa ls cpkrh gSA
fn, x;s fodYiksa essa ls lgh fodYi dks pqusA
(A)  (A) rFkk (R) nksuksa lgh gSa vkSj (R), (A) dh lgh O;k[;k djrk gSA
(B)  (A) rFkk (R) nksuksa lgh gSa fdUrq (R), (A) dh lgh O;k[;k ugha  djrkA
(C)  (A)  lgh gS vkSj (R) xyr gSA
(D)  (A)  xyr gS rFkk (R) lgh gSA

59. Which of the following is not a feature of Indian federalism?
(A) The Constitution creates a strong Centre.
(B) The Constitution provides for a single judiciary.
(C) The Constitution provides for a common All India Services.
(D) The Constitution provides equal representation provides equal representation to the States in the Upper House
of the Parliament.

fuEufyf[kr esa ls dkSu Hkkjrh; la?kokn dh fo'ks"krk ugha gS?
(A) lafo/kku ,d l'kDr dsanz dh jpuk djrk gSA
(B) lafo/kku ,dy U;k; ra=k dh O;oLFkk nsrk gSA
(C) lafo/kku esa vf[ky Hkkjrh; lsok dh O;oLFkk iznku djrk gSA
(D) lafo/kku laln ds Å ijh lnu esa fofHkUu izkarkZs dks leku izfrfuf/kRo nsrk gSA
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60. Democracy is considered to be better than other forms of government. Which of the following statements support
this claim?
A.  It is a more accountable form of government.
B. It improves the quality of decisionn making.
C. It ensures rapid economic development of citizens.
D. It enhances the dignity of citizens
(A)  A,B  and D (B) A and C (C) A, B and C (D) B, C and D

yksdra=k dks ljdkj ds vU; :iksa ls csgrj ekuk tkrk gSA fuEufyf[kr dFkuksa esa ls dkSu bl ckr dks cy igq¡pkrk gS?

A.  ;g vf/kd mÙkjnk;h ljdkj gSA

B. ;g fu.kZ; ysus dh xq.koÙkk csgrj djrk gSA

C. ;g ukxfjdksa dk rhoz vkfFkZd fodkl lqfuf'pr djrk gSA

D. ;g ukxfjdksa dh xfjek c<+krk gSA

(A)  A,B  vkSj D (B) A vkSj C (C) A, B vkSj C (D) B, C vkSj D

61. Which among the following countries followed the policy of apartheid ?

(A) Britain (B) South Africa (C) West Germany (D) East Germany

fuEufyf[kr esa ls dkSuls ns'k esa jax&Hksn uhfr ykxw Fkh\
(A) fczVsu (B) nf{k.k vfÝdk (C) if'pe teZuh (D) iwohZ teZuh

62. In criminal matters, the highest court in a district is the �

(A) Court of First class Magistrate (B) Court of Second Class Magistrate

(C) Court of the Sessions judge (D) High Court

vijkf/kd ekeyksa esa fdlh ftys esa lokZsPp U;k;ky; dkSulk gS \

(A) izFke Js.kh U;k;k/kh'k dk U;k;ky; (B) f}rh; Js.kh U;k;k/kh'k dk U;k;ky;

(C)  ls'ku U;k;k/kh'k dk U;k;ky; (D) mPp U;k;ky;

63. In which of the following economies are people more of a resource?

(A) Country A with 78% .of the working age population illiterate and with very low life expectancy

(B) Country B with 10% of the working age population illiterate and with high life expectancy

(C) Country C with 60% of people in the working age illiterate, but with high life expectancy

(D) Country D  with only 10% of population is the working age illiterate, but has very low life expectancy.

fuEufyf[kr vFkZO;oLFkkvksa esa dgk¡ yksx lalk/ku ds :i esa vf/kd le>s tkrs gSa?

(A) ns'k A tgk¡ 78% dk;Z'khy tula[;k fuj{kj rFkk vYik;q gSA

(B) ns'k B tgk¡ 10% dk;Z'khy tula[;k fuj{kj rFkk nh?kkZ;q gSA

(C) ns'k C tgk¡ 60% dk;Z'khy tula[;k fuj{kj] fdUrq nh?kkZ;q gSA

(D) ns'k  D  tgk¡ 10% dk;Z'khy tula[;k fuj{kj] fdUrq vYik;q gSA
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64. Which of the following statements is true of agriculture in Indian economy between 1973 and 2003?
(A) The sectorial share of agriculture  in employment has decreased far more than its share on total output
(B) The sectorial share of agriculture in total output has decreased, but its  share in employment has increased.
(C) The sectorial share of agriculture in total output has increased, but its share in employment has decreased.
(D) The sectorial share of agriculture in  output has decreased far more than  its share in total employment.

fuEufyf[kr esa ls dkSu&lk dFku 1973 ls 2003 ds chp Hkkjrh; vFkZO;oLFkk esa d f̀"k  ds ckjs esa lgh gS\

(A) vFkZO;oLFkk esa d f̀"k jkstxkj dk fgLls blds laiw.kZ mRikn esa fgLls dh rqyuk esa cgqr vf/kd fxjkA

(B) laiw.kZ mRikn esa d1f"K dk fgLlk fxjk] fdUrq jkstxkj esa bldk fgLlk c<+k A

(C) laiw.kZ mRikn esa d f̀"k dk fgLlk c<+k] fdUrq jkstxkj ea bldk fgLlk fxjkA

(D) laiw.kZ mRikn esa d f̀"k dk fgLlk jkstxkj esa blds fgLls dh rqyuk esa cgqr vf/kd fxjkA

65. Which of the following considered as Foreign Investment made in India ?
A. The TATAs  acquire Corus steel plant abroad.
B. Mr. Donald, an American citizen, acquires 100 shares of an Indian listed company.
C. The remittances sent by an Indian doctor in Dubai back to his hometown in Kerala .
D. The US multinational Google opens its full-fledged unit at Gurgaon, Haryana.
(A) (A) and (D) (B) (A) and (B) (C) (D) only (D) (B) and (C)

fuEufyf[kr esa ls fdls Hkkjr esa izR;{k fons'kh fuos'k dk mnkgj.k ekuk tk ldrk gS\

A. VKVk }kjk fons'k esa dksjl LVhy IykaV dk vf/kxzg.k djukA

B. vesfjdh ukxfjd fe- MksukYM }kjk ,d lwfpr Hkkjrh; daihu dk 100 'ks;j [kjhn ysukA

C. nqcbZ fLFkr ,d Hkkjrh; MkWDVj }kjk dsjy esa vius xg̀ uxj es iSls HkstukA

D. vesfjdh cgqjk"Vªh; daiuh xwxy }kjk gfj;k.kk ds xqMxk¡o esa viuh iw.kZr% O;ofLFkr bdkbZ [kksyukA

(A)  A vkSj D (B)  A vkSj B (C)  dsoy D (D)  B vkSj C

PART - VI (MENTAL ABILITY)  Hkkx- VI ¼ekufld ;ksX;rk½

Straight Objective Type
This section contains (66-75) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (66-75) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

Directions :(66 & 67) Find the missing term :

funsZ'k % yqIr in Kkr dhft, %

66. 16, 54, 195, ?
(A) 780 (B) 802 (C) 816 (D) 824
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67.
12

10

64

(47) 21

(52) 4

(?) 24

(A) 16 (B) 40 (C) 62 (D) 83

68. If we coded "TRAIN" in a particular manner then find the code from following alternative &

;fn "TRAIN" dks fdlh fuf'pr fu;e ls lkadsfrd Hkk"kk esa fy[kk tkrk gS rks fuEu fodYiksa esa ls dwV D;k gksxk &

(A) RMYGL (B) RPXGL (C) VTCJP (D) RPYGL

69. If HINDU is coded as 61257 and MAN is coded as 924, INDIRA will be coded as :

;fn HINDU dks 61257 ls dksM fd;k tk;s vkSj MAN dks 924 ls dksM+ fd;k tk;s rks INDIRA dks fdlls dksM fd;k tk;sxk ?
(A) 454626 (B) 594921 (C) 452787 (D) 884572

70. One evening before sunset two friends Amit and Sunil were talking to each other face to face. If Sunil's shadow
was exactly to his left side, which direction was Amit facing ?

(A) North (B) South (C) West (D) Data inadequate

lk;% dky lw;kZLr iwoZ nks fe=k vfer vkSj lquhy ,d nqljs  dh vkSj eqg¡ djds ckrs dj jgs FksA ;fn lquhy dh ijNkbZ mlds

ck;h vksj gks rks] vfer dk eqg¡ fdl fn'kk esa gSA

(A) mÙkj (B) nf{k.k (C) if'pe (D) vkadMs vi;kZIr gSA

71. At a farm, there are hens, cows and bullocks, and the keepers to look after them. There are 69 heads less than
legs; the number of cows is twice the number of bullocks; the number of cows and hens is the same and there is
one keeper per ten birds, hens and cattle. The total number of hens plus cows and bullocks, and their keepers
does not exceed 50. How many cows are there ?

,d [ksr esa] dqN eqfxZ;k] xk;s] rFkk cSy vkSj mudh ns[kHkky ds fy, j[kokys gSA ;gk¡ iSjksa ls 69 flj de gS ; xk;ksa dh la[;k

cSyks dh la[;k dh nqxquh gS ; xk;ksa rFkk eqfxZ;ksa dh la[;k leku gS rFkk izR;sd nl if{k;ksa] eqfxZ;ksa rFkk eosf'k;ksa ij ,d j[kokyk

gSA eqfxZ;ksa xk;ksa cSyksa rFkk j[kokyksa dh la[;k 50 ls T;knk ugha gSA xk;ksa dh la[;k D;k gS \

(A) 16 (B) 14 (C) 12 (D) 10

72. Pointing to a woman in the photograph, Ramesh said "Her maternal uncle is my maternal uncle�s maternal uncle".

How is the Ramesh related to Woman ?

(A) Father (B) Uncle (C) Brother (D) Son

QksVks esa ,d efgyk dh vkSj ladsr djrs gq, jes'k us dgk ̂mlds ekek esjs ekek ds ekek gSa ^̂ jes'k efgyk ls fdl izdkj

lEcfU/kr gS \

(A) firk (B) pkpk (C) HkkbZ (D) iq=k
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73. If a clock takes seven seconds to strike seven, how long will it take to strike ten?

(A) 9 seconds (B) 10 seconds (C) 10.5 seconds (D) 22.5 seconds

;fn ,d ?kM+h lkr lSd.M esa lkr izgkj djrh gSA rks nl izgkj djus esa fdruk le; yxsxk \

(A) 9 lSd.M (B) 10 lSd.M (C) 10.5 lSd.M (D) 22.5 lSd.M

Direction : (74) In the following question consists of five figures marked 1, 2, 3, 4 and 5. These figures form a series. Find

out the one from the answer figures that will continue the series.

funsZ'k : (74) iz'u esa] fp=kksa ds nks lewg gSaA iz'u vkd f̀r rFkk mÙkj vkd f̀r] mÙkj vkd f̀r A, B, C rFkk D ls vafdr gSA mÙkj vkd f̀r;ksa

esa ls ml vkd f̀r d k pquko d hft;s tks iz'u vkd f̀r esa nh xbZ vkd f̀r;ksa d h Jsa.kh dks vkxs c<+k ldsA

74.

     (A)        (B)         (C)         (D)

Direction : (75) Figures 1 and 2 are related in a particular manner. Establish the same relationship between figures 3 and

4 by choosing a figure from amongst the five alternatives, which would replace the question mark in figure (4).

funsZ'k : (75) iz'u vkd f̀r d s izFke Hkkx esa fn;s x;s nwljs fp=k dk ftl izdkj igys fp=k ls lEcU/k gS ogh lEcU/k nwljs Hkkx ds rhljs

fp=k d k mÙkj vkd f̀r esa fn;s x;s ik¡p fodYiksa esa ls fdlls lEcU/k gksxkA

75. ?
(1) (2) (3) (4)

(A) (B) (C) (D)


